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Why should the market be explored

▪ Every customer has a problem,

▪ every problem has a solution

▪ Not every solution has a problem

▪ Not every problem has a customer

▪ And contexts evolve quickly:

- Markets

- Needs, behaviors and expectations

- Technologies

Source: FET2RIN project
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A concrete example – Galileo Authentication

▪ In 2011 Galileo Authentication was planned as part of the Commercial 

Service as a paid service based on rather expensive receivers for 

professional services…

▪ …in 2017 it is also a free of charge service part of the Open Service based 

on mass market receivers to support the development and uptake of many 

different applications such as autonomous vehicles

▪ The need was there already in 2011, but the focus was on the solution 

rather than on the market need
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A concrete example – EGNOS in agriculture

▪ EGNOS was thought and developed for Aviation

▪ In the testing and certification phase EGNOS was “switched off” for some 

days

▪ The GSA started receiving phone calls from farmers complaining about the 

fact EGNOS was not working, thus discovering a new unexpected market

▪ EGNOS v3 will be developed also taking into account the specific needs 

and requirements from the maritime and the road market segments
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Understand the problem first AND define the solution afterwards
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Understand the problem first AND define the solution afterwards

▪ Understanding the problem implies the need to interact with your potential 

clients and discuss/explore what are the problems they face – the focus should 

be the problem NOT the solution

- What is “his/her” problem

- Who is “he/she”

- How does he/she solve the problem now

- Is our product more efficient in solving this issue?

▪ Exploring the market and discussing the problems and issues with potential 

clients implies leaving the office/lab and interviewing them
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Understand the problem first AND define the solution afterwards

INNOVATION

PRODUCT

INFORMATION

The virtuous cycle of market-

oriented innovation
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A concrete example - Octo

▪ In 2002 Octo Telematics was funded to provide telematics to the automotive 

industry

▪ They realized that the insurance industry had a traditional way of calculating 

risk, with a general model that was penalizing a lot low risk drivers as opposed 

to high risk drivers and GNSS was a key enabling factor

▪ There was a need for:

- insurers to collect dynamic and more relevant data to improve their 

management of risk (and claims)

- drivers to have a more transparent pricing and a system more rewarding for 

low risk drivers

▪ Today Octo is the PPUI market leader, with more than 100 insurances and 5,4 

million users
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A concrete example – High Precision Agriculture

▪ The evolution of high precision agriculture over the years went through at least 

3 phases:

- GNSS navigation to support all tractors’ operations in the farm – GPS then 

complemented by EGNOS

- High accuracy GNSS allowed the segmentation of operations increasing the 

benefits and performances – RTK and similar services

- Fusion of High Accuracy GNSS with Copernicus (and other sources of data) 

to perform more activities that are critical for the successful management of 

the farm – depending on the type of activity

▪ The specific needs of the market have driven innovation towards new, more 

complex and complete services

▪ A critical question here is not only: how many customers are there? But also: 

how many of them are willing to pay for the service?


